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1. BHEAT
(1)ERAET
FRPMAE g?)(% SHHE 01350 & 50. 000
FRPMAE T;ES >5< Z%OO%%E% ¢ & 5. 000
FRPMA T;ES >5< Zig)ooﬁ%ﬁ% ¢ & 1. 000
FRPMA% T’% %Eﬁ—l 5%&%}%%% PN 1. 000
FRPMA% T’% %Eﬁ—l fgﬁﬁ%% PN 1. 000
FRPVG 526% 5Ff ZPE ¢ 1350X * 1. 000
FRPMAE T;ES >5< ﬁi% FRPE o & 1. 000
I T ¢ 1350 X ¢ 250 Vi 1. 000
o Al T 21 2 EHINod i 17. 000
FELHAS m3 211. 600
BN L m 614. 350
FRPM& A 3% I PN 75. 000
FRPMA& % EBAIE T BB 76. 000
- OIRERR & T & T 4. 000
FeHEM 7T v h R L A 1. 000
FEHAEA L =X 1. 000
Btkan B4R =X 1. 000
2. MiET
(1) S EBEE T
e T 14. TMpa g 2, 224. 500
e < 7K E20 1. 000
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(1) BERR P BEfE
WERR M PR 2= A 1. 000
PRI D =X 1. 000
HEREL = 1. 000
(2) BER% M BEE IH
WERz M BE1E IH A 1. 000
PRI D =X 1. 000
HEL = 1. 000
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BBRARRE - s t=22mm t 900. 000
BBRARRE - s t=22mm t 225. 000
AT S — MR - I 1, 125. 000
PET — Nl - m3 4. 400
Bitis — MMk il T it 63. 000
Bt — MEIR {fiﬁ%?f?’ﬁ“g_ggﬂj& ? 63. 000
B — M - HIH T L nt 346. 000
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&= S PN TS
B - IREIHA IR ENBE W] Hp i A iR 1. 000
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SER A
SE A
BBk ton 194. 600
B ER LT NT v, 28Rk H 8. 000
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